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Sub-Section Id : 10561544

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1056152081 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following organism is multicellular?
&2 00 IS B 205T0EROL0E 25D ?
Options :
Bacillus
1.4
Amoeba

EIaZT°

Spirogyvra

©)000°
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Question Number : 2 Question Id : 1056152082 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following structure is found in all prokaryotic cells?

e P L& = v af =
s $old PR o) ATy B0 Sogd¥ ardy HadueS” Gold?

Options :
Mitochondria
%—"ﬁ:‘ S"o@@i"“

Golgi complex
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Ribosomes

SESEVISVISY
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Lysosomes
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Question Number : 3 Question Id : 1056152083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following lists :

List I

A)  Plato

B) Agar

C)  Arnica and Withania

D) Bessey

S0l LU BONGWG:

DS 1

A) e

B) a0 (96

) &90) 57, DPIAL®

D) 2y

The correct match 1s:

& VO &D
Options :
A B C
III 1II I
1. %
A B %
I III II
2. %
A B i
I IV I11
3. %

4.+

I)
IT)

IIT)
V)

D)

II)
IIT)
V)

v

\Y

I

List IT
Developed botany as science
Medicinal plants
Phylogenetic classification

Inert polysaccharide
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WONNGER
NVLTAVEVUVE RSV
SET 505G

230 FOPRO



I IV II III

Question Number : 4 Question Id : 1056152084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Algae are primary producers and form the basis of the food cycle for
aquatic ammals.

Reason (R) : Algae increase dissolved oxygen levels in their vicinity.

QBBES0 (A) : Fdren FONE GEYSTOUWT Gl I RotadL SIS SUAirul
GPOelP PinPIY WFYS .
e (R) : Faderon e b D80 DBEE S0 &8z Fod Ded@ow.
The correct option among the following is:
& S0 @DYFUS OGR!
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 955w, (R) ehgas 0050 (A) & (R) 0O d38es

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Ohgain, (R) DSz @on® (A) § (R) 000 DG ¢

2. ¢



(A) 1s true but (R) 1s false

(A) 05550, R (R) @90&5ga50

8

(A) 1s false but (R) 1s true

(A) @855, 0 (R) 09380
4, %

Question Number : 5 Question Id : 1056152085 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements from the following.

A)  Ramental hairs and open dichotomous venation are found in Pinus leaves.

B)  The sorus in Pteridophyta is covered with a membranous sheath called
mdusium.

C)  Inprotostele. water conducting tissue is surrounded by phloem.

D)  Salvinia produces only one kind of spores.

OGN aTgadg o (Qouioely.

A)  Tralolr ST a0k Dy B35re S0 g Pl DFPUT Golrow.

B)  G0CEr A werol erind) €i0o) ool PO Gollrg oo @olrd.

C) D 2066 Joafoln” b P8 Srereoed” eadlovitnlicd A DU Saaresln
LAV

D) Pdsdalras S g derod aS)S Sk,

Options :

A. B only

A. B S8

1. %



B. D only

2. %
B. C only
B. C SrS3
3.¥
A. C only
A, C Srgad
4. %

Question Number : 6 Question Id : 1056152086 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are correct with respect to the nflorescence in
Crotalaria?

A)  The peduncle shows an indefinite growth.

B)  The peduncle shows a defimte growth.

C)  The flowers are borne in an acropetal manner on peduncle.
D)  The flowers are borne in basipetal manner on peduncle.
SHI0AL i) HGFIS Votedod 5§08 o) P50 NOMNSI?
A) QR ATy et BN DUNNNL SPYD.

B) Q) degdyede A8 S D0 Wri).

0) i) g0 y080 P QY00 SIPARSED0L ).
D) ) dXegRsyeto 2 PN GEFTPRPGEes N Y.

The correct statements are

2 OGS g

Options:

A.D only

A. D SrSd
1. #

A. C only

A, C Srgdo
2. ¥

B. C only

B. C Jr@ed
3. %

B. D only

B.D SrSd



Question Number : 7 Question Id : 1056152087 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the type of aestivation m which at least one petal completely overlaps others
i a flower

A) Valvate
B) Twisted
C) Imbricate
D) Vexillary

W
LS

@ﬁgo@é A BuS’EF &95(‘_.36‘3 EJ@D OO @@lefﬁ@ @@ﬁgéo}_& Gl @ug Grodndndd BT el
A) Sardicingo

B) OBOO

0) -&');_Errﬁ

D) 0353%}5

The correct answer 15

ARV STOWNRIN VAN Y

Options :
A. B only
A. B @
1. %

B. C only

B. C Sr&



A.D only

A.D 3G
C. D only
C. D &S
4.

Question Number : 8 Question Id : 1056152088 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Sporopollenin 1s one of the most resistant organic material present in
the exine of pollen grains.

Reason (R):  Sporopollenin can withstand high temperatures. strong acids and
alkali. and cannot be degraded by any known enzyme.

DSES (4) 1 FYOPOA M0mMDY WrgREEESSS Gl af e
Eé}f}nég @uétﬁj E}C?E:._Jo.

Ut (R) : F)OTO 008 &FISuD, wodd wgrey Dioh Food
NSO, BOVS o) JoBD B3¢ {00 BetSiD.

The correct option among the following 1s:

éééo@ W)

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D958, (R) D955 200050 (A) & (R) DOV D888
Lo



(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) D550, (R) 095050 @ (A) & (R) OGS DSes S0

2. %

(A) 1s true but (R) 1s false

(A) JBgain, A (R) 90Bgedw
3. %

(A) 1s false but (R) is true

(A) ®08g5aw, 0 (R) 0Sgew
4. %

Question Number : 9 Question Id : 1056152089 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find the correct character related to double fertilization of Angiosperms.

A) Male gametic nucleus fuses with egg cell.

B) Male gametic nucleus fuses with antipodal cells.

C) Male gamete fuses with synergids.

D) Male gamete helps in the formation of primary endosperm cell.
505y WS QIDOOEEHN De2o@od DTN oL (dQeaYi.
A) D0 DoO3Piides 5‘0@5&{@ eotsteined” DoliPiio wWothehed.
AR Dodiriiede: So@san NAWPGS SErwe” Dodirie Wotoiol.

)
C) 2o MeCirigderen Nar Sireed” Heliriie QotuEPow.
)

&
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24

oGOP(iieen FEAE WoFoSING Sea @U“&EE“D@E €8G5 Yo t00d.

Options :



A. B only

A, B Sr¢vh
1. %

A.D only

A.D SrGed
2.

A. C only

A, C Srgd
3. %

C. D only

C. D Srdd
4. %

Question Number : 10 Question Id : 1056152090 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the correct sequence of arrangement of the flower characters i the floral
diagram from the posterior to the centre.

L

VRGN V8T SEINENNE DEEFIPL ol SRS SENIP (ool

Options :
A dot or circle. corolla. calyx. gynoecium and androecium

a8 08y OF a8 ddile, B8l VTSP, O88 DTS, 290065 Fad0, S0P
1. %



Bract. calyx. corolla. androecium and gynoecium

DYDY, BEE DT LD, w8les DT PSP, SVTPLP, Wolis dalw

2. ¢
Bract. corolla. calyx. number of anther lobes and number of locules in placenta
RV, B8 PSP, 058 TSP, WONITIBAY Vo, WelTg
Prlot 2PU Doy
3.%
A dot. a circle. calyx. corolla. placentation and number of stamens
w8 08y, w8 SUke, B8 VTP, B0 VTN, VoleT®ge, SNTPL Voddg
4. %
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the plant showing following list of characters.

A) Tepals

B) Tendrillar climber

C) Medicinal value

D) Hypogynous

E) Ornamental

S §o0 BTGNS LEETLU SO 3008y (DGedalw.
A) SIS SN

B) O Biiees” odiieS Iy
C) EAPSTATISVNS

D) S ATV TV

E) o508 o108y,

Options :
Gloriosa
goaurze

1.4

Smiilax
%%
2. %
Asparagus
&0 oS0

3. %

Colchicum

5"&%.‘3&5
4. %



Question Number : 12 Question Id : 1056152092 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following lists :

List-I List-IT

A) Leeuwenhoek [)  Observed different kinds of cells
forming the tissues i plants

B) Robert Brown II) Cell wall is the unique character of
the plant cell

£ T. Schwann [I) New cells are formed from pre-existing
cells

D) M. Schleiden IV) First to observe a living cell

E) Rudolf Virchow V)  Observed nucleus is a cell

S0 DL BOVGUNG!

D8I DEETI

A) OIDTE ) anfod add dro S
S0P PO 880D HBoDD

B) TRETR D) Sa¥sde SyEimre HBg¥ vito

) €. Py ) §& Seren 9oS8 ayrdgan) Sro
20D 28

D)  M.§5s IV) 2550PQ) 0EAMP HBeD

E) @Sy Ao° V) S50 Sofiwd) (hQodedd

The correct match 1s:

26 "@E}@Jn‘i 2369

Options:
A B C D E
IV ITT v I II



A B C D E

IV II V I 11

2. #
A B C D E
IV v IT I 111

3.
A B &, D E
IAY v I IT 111

4. %

Question Number : 13 Question Id : 1056152093 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Growth in the primary wall of a young plant cell gradually diminishes
as the cell matures.
Reason (R) : Secondary wall is formed on the outer side of the cell.

BB (A) : 88 OB )8 oot PSS Eedudo DML edo 0B 56 Seldorr
el

séto(R)  : BS0% 8o Yoo VT, DNDOTKY KR,

The correct option among the following 1s:

& 8ol D FUS OGN

Options:

1. %



(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

(A) De5gai0, (R) 055050 HOOKD (A) § (R) DO DSSea

(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) 955, (R) D9z @and (A) & (R) 0O Q55

2. %

(A) 1s true but (R) 1s false

(A) 0Bz, R (R) 80Sgaw
3. v

(A) 1s false but (R) 1s true

(A) Bz, 5°Q (R) g0
4. %

Question Number : 14 Question Id : 1056152094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Cytoskeleton in eukaryotic cells is made up of a network of filamentous
lipids and polysaccharide structure.

Reason (R) : Cytoskeleton is composed of microfilaments. intermediate filaments and
microtubules.

D) BS0 (A) : A& S0l SPOS $ eR0zdo, Gothiriue A07yH DR dhdaky
FOFRIE AT TPUe 05 3G TPyt

e R) @ rElrd Sododon, Ddgn Sotehn Dby wrEyTrosues”
5% @iondo ).

The correct option among the following is:

& S0l DU OGR!

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D550, (R) D50 a0O0K (A) & (R) 0OGLS DSes

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Dhgain, (R) Dehgeion 0w (A) § (R) DOCLS Deses 56
2. %
(A) 1s true but (R) 1s false
(A) DBgadw, A (R) 90Sgadn
3. %

(A) 1s false but (R) is true

(A) ©855e5w, 2 (R) 0930
4.9



Question Number : 15 Question Id : 1056152095 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify correct statements from the following:

A) Cotton threads are made up of polymers of amino acids.
B) Like Glucosamine, amino sugars are complex polysaccharides.
C) Hormones are not always functional proteins.

D) Acid soluble pellet from cytoplasm will have polysaccharides.
&2 500 PG DOTIS gL (0Qorioain.
A) BT WS WP WEDY L SAIPdHT .

B) (r5°28 a0 30 S W50 $rE Dedn FOTDIELL.

b A

i)

Q) PG P00y YR SO § FEh ad.

&

D)  $5lcdgos' ea radeiod) erliciioth PO eDE Godrow.

(4]

Options:
A. C only
A, C Soeghad
1. % =
B. D only
B.D JSr&d
2. %
B. C only
B. C g
3.¢

: None Response Time



C. D only

C. D Sgsadd

Question Number : 16 Question Id : 1056152096 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In DNA double helix. one full turn of helical strand contains twelve
base pairs.

Reason (R) : The pitch of DNA helix 1s 34° A.

OO (4) : GO%S0) 03008 &8 rQ V0L DS D)ol TS
GobPow,

6gio (R) e 000t O Soidy ErEw 34° A,

The correct option among the following 1s:

& $ol )

S eeIVNAY
Options :

(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

(A) D85350, (R) 09050 000K (A) & (R) HOALS DSes

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DBgaiw, (R) DSgei0 90w (A) § (R) DOGRS Deddies ¢

2. %



(A) 1s true but (R) 1s false

(A) 9550, PR (R) @0Sgai0

(A) 1s false but (R) 1s true

(A) 0SSz, 5 (R) 0Sglw

Question Number : 17 Question Id : 1056152097 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following lists :

A)  Separation of homologous chromosomes
B) Imtiation of chromosomal pairing

C) Chromosomal clustering at opposite
spindle poles

D) Disc shaped part of centromere

List-1

S0l P BSIGNG:

088 - 1

A)  DaErdal §arFane SONkEraw

B) §arrsnm S 8y
B0&eaeied

C) ST P B0

SATARVETIN AR VRV IS oMY

D) 200 w¥o o) esdiain

The correct match 1s:

B0 VO &
Options:
A B
I 11
1. %
A B
II1 IV
2.
A B
III I

II

IV

1A%

II

II

D

II)

V)

I)
)

1)

V)

List-1I
Telophase
Kinetochore

Anaphase - I

Synapsis

D8 - TI

otdst5d
SOLSE'S

WOSE - 1

PO



II I IV II1
4. %

Question Number : 18 Question Id : 1056152098 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In which of the following plant materials, polyarch condition of xylem can be observed
in a transverse section?

& 500 o) 308, 3 Gy, EEHEG 2070 DUHIPHE YL TPlusY) SAWeR?
Options :
Momnocotyledonous stem

~ = st
o 8857508 oo

Monocotyledonous root

MDY

Dicotyledonous stem

G ::]{ﬁ"-“ﬁafi% SPole0

Dicotyledonous root



Question Number : 19 Question Id : 1056152099 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Assertion (A) : The growth of cultivated crops 1s good in mesophytic condition.

Reason (R) : An unbalanced condition of water and gases exists m soil where
water is abundant or scarce.

DB)SS e (A) : Do 00 2BDEL AAFQ e HOYHOS wriholiold.

deo (R) : O oS0 S ¥ §6¢ &) 80, {nge;;é@“ ST VINVToV VvV WA STIMIMEN
203D &old.
The correct option among the following is:
& $old DQYPOS VOGR!
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D535, (R) 0950 000K (A) § (R) KOS DeSes

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) D&gaiw, (R) 08gain 0@ (A) § (R) 2000 Db ¢
2. ¢
(A) 1s true but (R) 1s false
(A) 5350, O (R) @955
3. %

(A) 1s false but (R) 1s true

(A) 893850, PR (R) 0¢93850



Question Number : 20 Question Id : 1056152100 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Xerophytes possess modified plant organs to minimize water loss due
to transpiration.

Reason (R) : Plants that grow under water deficit conditions develop fleshy plant parts
and reduced leaves.

03Bk (A) : a0 Ay e w880 dudd A8 &Syarad Souh§ b Sraredo
AN E@§& errren $90 sobrow,

=t (R) D RO D0RMVG 20N dnen SVa0S Jwdy wPrud ook
26008 DT SYpRdTon.

The correct option among the following is:

& S0l ayTOC JodLIL:

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D935, (R) Oe9gasn 0050 (A) & (R) 0O d58es
1.¢

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) De3gai0, (R) De3gai0 @0 (A) § (R) DO S8
2. %

(A) 1s true but (R) 1s false

(A) D350, T (R) @050



(A) 1s false but (R) is true

L. () SR, 50 ®) S8y

Question Number : 21 Question Id : 1056152101 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

List-I List-II List -III

A) NADP I) Prostheticgroup 1) Enzyme’s globular structure
changes

B) Peroxidase II) Coenzyme 1) Bonds with enzyme and substrate

C) Cu III) Cofactor 11) Transient association with
apoenzyme

D) Zn IV) Noncompetitive  1v) Tightly bound to apoenzyme

mhibitor

&2 S0l IO BENGIeG:

26381 D8 I 2338 I

A) NADP  I) 2R88mole 1) J5ED Aval eTdeds Sty

B) adeE 1) HiraSg i) Q)SER0S 00K §d HEPgods”
EATTATE VN DA

C) Cu ) st 1)  @FIOBS TT) O Howobo

D) Zn IV) FEAEQWU  1V) ePdisd’ Qylel®
EAITALE VN LA

The correct match 1s:

1) K}é@:é 2ae8:

Options :



A B E D
IT, 111 L v IV;i T4

A B £ D
IMm,m  ILu IV,iv Li
2. %
A B C D
IT. 111 Liv IIT. 11 IV, i
3. %
A B C D
IMI. 11 Liv IV.1 IT. i1
4. ®

Question Number : 22 Question Id : 1056152102 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following events occur during release of O2 while synthesizing (CHEOL5
i green plants?

A) Disassociation of H,0 in the lumen of thylakoid.

B) 0, is released in association with PSI.

() PSII s associated with water to release electrons,
D) A coenzyme 1s reduced in association with photosystem I

530 QS (CH,0), S0r08" 0p 00N & §66  Hootoin wiHH?
A) puront wdw3ies” H,0 dGdttied.
B) PSI 0y ar dotvodoed” 0, Dedius)ed.
C) ¢3e5” PSII 09y 2reh Dotoldo S0 LT AEIHTON,
D) 5o abgebey I 00y ard D0edotoes” &l NIPTE aln@e $OEUE Jothuob.

The correct answer 1s :

EIARVOOWVIVEN VALY
Options :
A.B. C only
A. B, C aoegde
1.% e
B. C only
B. C drSeh
2. %
C. D only
C. D Soeghedd
3. v S
A.B.D only
A.B. D SrSd

4. %



Question Number : 23 Question Id : 1056152103 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

How several molecules of ATP are generated during photosynthesis?

A) Due to conformation changes that occur in Fy particle of ATPase through
diffusion of protons.

B) By the movement of protons to stroma through the transmembrane channel
of F1 of ATPase.

C) By breakdown of proton gradient.

D) By the organization of ATPase when Fg of ATPase is embedded m the flattened
membrane sacs of chloroplast,

§6ﬁ%ﬁ§ﬁocﬁi“(‘/}§&‘b@6 538 ATP S0 o) DolT &0 DahePow?

A) Férqg ameS” ATPase &' Fo Sa)ues’ 90lrads ooy 23dtide dud,

B) ATPase GIn), F1 §3rouil P &rg0” 9080 diérqy S6OK s,

C) ey e Q) dulhed O,

D) ir0S060e)S R w1 Bt Pl gt ATPase &) )i, ATPase &'

Fo D?x.lﬁ& oo .

The correct answer 1s :

IARVOOWINEVAVI AN
Options :
A. B only
A, B S5ee9%
1. % o
B. C only
B. C S



A.D only

A.D S
3. %

C. D only

C. D a5ogse
4.9 e

Question Number : 24 Question Id : 1056152104 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

How many ATP and NADPH molecules are required for fixation of 12 CO2
molecules through Calvin cycle respectively?

Ee."".lqgﬁ eode rgTe 12 CO2 eI P SEH S8R of)c%al ATP 06c%0 NADPH

BED))LN Weiude 7

Options:

36, 24
1.¢

18, 12
2. %

30, 24
3. %

36. 20



Question Number : 25 Question Id : 1056152105 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Assertion (A) : In C4plants, photorespiration does not occur.
Reason (R) : It is due to a mechanism that increases the CO; concentration at the

RuBisCo site in the mesophyll cells. which ensures that the RuBisCo
functions predominantly as an oxygenase.

23S (A) : o 0500 Cy a0 sich,

00 (R) i KJ@”Q’EE{’J §EB"¢£ RuBisCo g}“rﬁo 0‘5@ CO2 3"0@@&5} oud O‘f&o%go el e
RuBisCo 2arder? @838 203W0e0.

The correct option among the following is:

& §ob) 0)FUE AOGIA:

Options:
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 0938, (R) H¢95550 50050 (A) & (R) DO D808

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) D&gaiw, (R) 0Sgen ond (A) § (R) 20000 deda s

2. %

(A) 1s true but (R) is false

(A) D350, T (R) @050



(A) 1s false but (R) 1s true

(A) 550, 0 (R) 055050
4. %

Question Number : 26 Question Id : 1056152106 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the ratio of total ATP molecules formed to net ATP molecules in oxidation of
a glucose molecule through glycolytic pathway?

(506 o trgTe a8 (IS i) w)¥8n Yot K8y ando ATP eme)w
o

00k 88 ATP e9e0ade aiddy QYD 0dots?

Options:

2
1.¢

I5:2
2. %

354
3., %

I--3
4, %

Question Number : 27 Question Id : 1056152107 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Complex V consists of two major components F1 and Fo. which are
useful to the production of ATP.

Reason (R) : The Fo1s a peripheral membrane protein and Fy 1s integral membrane
protein complex forms a channel.

3)BS 260 (A) : Dogn V ol Todd 05nd edbandaww) Fr ahdain Fo &obrow. g0 ATP

o3RS oD,

Fmo (R)  : Foartiay Sy G080 Gol el bk F1edhat o Sud
ol @ofﬁ?@ gfjé VE\JQ%%DW @0& L VINVWINY b@gé&éﬁoﬁ.

The correct option among the following 1s:

& o0 A)PUG OGNSR

Options:

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) K950, (R) 050 a000K0 (A) § (R) DO DeSes

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) 0Bgadw, (R) 0Sgan 0o (A) § (R) 0000 Qe s
2. %
(A) 1s true but (R) 1s false
(A) SBgaiw, 2 (R) wndgedn
3.¢

4, %



(A) 1s false but (R) 1s true

(A) S350, B (R) 093

Question Number : 28 Question Id : 1056152108 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In which form the proteins and fats are utilized into the respiratory pathway?

A) Proteins after deamination. as amino acids

B)  Fats mto fatty acids and glycerol

C)  Fatty acids as acetyl CoA

D)  Glycerol converted into phosphoglyceraldehyde
E) Dihydroxyacetone as glyceraldehyde, 3 -phosphate

0800 Dot Fedah, §aHILV 0) Eridets’ DAAAPNoSLEE oW?
D GONNN SO @RS Gl T 0 SoryS
§a)gen g Gairen, ARUoESTT aﬁagoﬁ&o el @ow

C)  §ay Garen, ®VES CoA 17 S0 Borg

D)  ON0S, P NINTPOErET arOa)

E) GurEdodle, Quordsrd., 3 -ru)e
Options :
A.B. C only

A.B. C Srg

A.C.D only

A.C,D Srg%
2.9



A.C.E only

A, C, E Segd

3. %
B.D. E only
B.D. E SrSd
4. %

Question Number : 29 Question Id : 1056152109 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Match the following lists:
List-I List-II
A) Delay in nutrient mobilization 1) Abscisic acid
B) Promoting root hair formation II) GA3
C) Antagonistic to GAs III) Ethylene

D) Derivatives of terpenes IV) Cytokinins

WEE-T DEIE-1T
A)  FIFO SrmEah ool D6he I) @235 eie

B) Sroddo S0 pBhee  II)  GAj

C) GA o% JEdgorr ) @O
D)  wdydv esyTyen IV) 265309

The correct match 1s:

ATy fﬁét;gu.:ﬁ 3¢5 -



Options :

A B i D

I1T I II IV
1. #

A B & D

IV I1I I II
2.9

A B L D

IT III I IV
3, #®

A B & D

IV I II III
4. %

Question Number : 30 Question Id : 1056152110 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct statements regarding Mendelian genetics from the following.

A)
B)
C)
D)

F1 always resembled either of the parents.

Recessive character is expressed in heterozygous state.

Genes coding for a pair of contrasting characters are called alleles.

The alleles of the parental pair freely separate from each other during
gametogenesis.

300 P DBOODS g P90 BotoPodd HOTL PR (DBeS0b.

A)  Fi Qu)ir o) a8 255500 O Gobio.
B)  @o®dd vt dsboluriys S delo e,
C)  alad d0d LSEPOR e8P DWW Bndga)N OSSR L) obrl.
D) QodiriiEie sdve 80MINE BIESEGY clf¥r Y B8P ol HEEE
UGBl eSO,
Options :
A.B. C only
A. B. C JSrSd
1. %
B. C.D only
B. C. D Sr@ad
2. %
A.B.D only
A.B. D SrSed
3. %
A.C.D only

4.v

A, C, D Sr%



Question Number : 31 Question Id : 1056152111 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which type of mutation in DNA responsible for sickle cell anaemia?

D8G5V DN TrseedE DNA & 2300 o) GE) 6885

Options :

frame shift mutation

Do — & £9058To

point mutation
ALAVE Ao INTo TN
2. ¥
chromosomal aberrations
§arPas wwtady
3. %
gene duplication
2adog Q3(9EFE0Ea0
4, %

Question Number : 32 Question Id : 1056152112 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Why RNA viruses mutate at faster rate than DNA viruses?
RNA 38w DNA 36 §7°) 2JotE) e5"oBSP DOSGNe DotePon?
Options :
Presence of complementary strand in RNA

RNA & Qonrds &l Golitlo adnd

1. %
Absence of complementary strand in DNA
DNA & Doard¥ P O8Fadtio oS3
2. #
Presence of 2'—OH group in each nucleotide of DNA
2e3 DNA ﬁ?gé@@ﬁé’ 2'—OH 0a50troie &otirld oS
3. %
Catalytic function of RNA
RNA %é&j@gnw Golely adead
4.

Question Number : 33 Question Id : 1056152113 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following lists :

A)
B)
Q)

D)

List-1
E. coli has
Diploid human cell has
DNA dependent RNA polymerase
catalyse in
The continuous replication 1s with

Sl VLD BOVGIE!

A)
B)
O

D)

2E5-1
E. coli § 9& &b
SR E300DBE FeaoS Gad) D
DNA w5r8e RNA ardadole
&8 390%0 Dol
ORS” PBEHYD WD) o
2200

The correct match 1s:

BQ O &:

Options :

A B C D

III I IV II
1.¢

A B " D

III IV II I
2. %

A B c D

IT I IV I
3. %

4. %

D
1II)

IV)

IT)
IIT)

V)

List-IT
6.6 X 10° bp
3'— 5" polarity
4.6 X106 bp

5'-3" direction

DES-IT
6.6 X 10° bp
, é}éﬂ&ﬁo
4.6 X106 bp
5'-3 &%



A B C D
I IT1 II IV

Question Number : 34 Question Id : 1056152114 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In a homopolymer of uracil chain of m RNA. after 14% nucleotide a cytosine nucleotide
was added. What will be the change in amino acid sequence?

RS e W) w8 m RNA SFarPofbs, 148 Srgioir@s $oid 58

VSO AWE A BN WARVIMEPVVEC VST OIS VW SMMARM eV DNE ?

Options :

No change

2STPE0 ) Golid
1.9
Leucine will be coded
waﬁji §°G oD
2. %

Serine will be coded

0 §°G Dok
3. %

4. %



Methionine will be coded

b BT 5 afL L aE a
§'G wOBIGIND

cn

OAPS!

Question Number : 35 Question Id : 1056152115 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

List-I List —II
A)  Retroviruses I) A type of cloning vector
B) Disarmed pathogen vector II) Used fo transfer genes to
animals
C) Cosmuds II) Used to transfer genes to plants
D) Colony hybridisation IV) Small specific gene probe

+radioactive molecule
V) Used in gene- gun method

& ol eI BBHGNG |

e -1 D&% -1
A) o IsRW I) 28 S5 ararlo
B) PQ¥00od BONSEHEe ) wothe)s'as aagdus wed
T SoHErE EDAPHFPE
C) SET-UV ) Sn§Hoss eyl whd
DODEPAS SDAPHPE
D) sl rResad IV) ) 989 xedgded + SGar
o0y § s

V) 20 DUSS GuairhHipd

The correct match 1s:

B0 OGS &:
Options:
A B & D
IV V I I



A B |5 D

II1 Vv I IV
2. %
A B C D
I IV II Vv
3. %
A B C D
II Vv I IV
4.

Question Number : 36 Question Id : 1056152116 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true regarding cloning vectors?

A)  PUC 19 1s a natural plasmud.
B)  Doubling of an alien piece of DNA can be made by inserting it in a plasmid

DNA,
C)  DNA of a bacteriophage cannot be used as a cloning vector.
D)  Bacteriophages can replicate within the bacterial cells.

§'200) PPUK Dodolod §00 o) gL HOGRSD?
) PUC 1988355 Fy6.
B) a8 2erd0k DNA 2oy 8 PRy6 DNA ¢ S0 0 S0y

C)  &§ocirir g, DNA & §0f aFirorP GO0rNoSO.

D)  wrfOairrauw wrioahd Srus N88)S Joliiva.

Options :

1. %



A. B only

A, B Sr@
A.D only
A.D drga
2. %
A. C only
A, C Srgad
3. %
B. D only
B, D S
4.

Question Number : 37 Question Id : 1056152117 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): The ampicillin resistant gene 1s a selectable marker in selection of
transformed host cells.

Reason (R): Cells without ampicillin resistant gene will die on agar plates containing
ampicillin.

D3)BSD (A) : D00 Dol BABW §PL S8 oDV ATEE sdagal) ododS
5000 &, 6.

o (R) : oD AT Y 8dged) TR STPen oD 8O &) o alrdto 2
WAFTOW.

The correct option among the following is:

& $old 2FUS DO
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) K955, (R) 0950 a0 (A) & (R) HOGLAS D53

1. ¢
(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)
(A) Dgaiw, (R) DSgain ©ond (A) § (R) 0000 D8 s
2. %
(A) 1s true but (R) 1s false
(A) DBgaiw, 2 (R) @0Sgaw
3. %

(A) 1s false but (R) 1s true

(A) @850, 9 (R) 05380



Question Number : 38 Question Id : 1056152118 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

List-T List-II
A) Taipe1 I) Bruise resistant
B) Roundup ready IT) Cotton boll worms
) Flavr Savr III) Richin vitamin- A
D) Bt -cotton IV)  Herbicide tolerant

SHARUNESIMWEA ISRk

638-1 OE8-II
A) Taipei I) oSO AGHES
B) TG OG IT) BTN SO pdotiven
C)  FS6386 M) S —A D)
D)  Bt-p IV) S0y ondés Séusotuod

The correct match 1s:

003 23€8:

a_

Options :
A B B D
I11 IV I II
1.4
A B G D
II1 I v II

2. &



T IT I IV
3, %

A B c D

I I 11 v
4. %

Question Number : 39 Question Id : 1056152119 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : LAB grows i milk and converts into curd.

Reason (R) : LAB produce antibiotics that coagulate and digest the milk proteins
also.

03)BG5am (A) : LAB aros 200, Rl dre dedopow.

w00 (R) : LAB $0 Qorsoruch 6918 30 o (6 Srdipon ook

The correct option among the following 1s:

W,

& §o DOYFOT OGR!

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) De5ga0, (R) 0e55as 0050 (A) § (R) OGS de5ea



(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) $e5a50, (R) 0950 @S (A) § (R) OGS DSe3 T

2. #

(A) 1s true but (R) 1s false

(A) B0, A (R) w0Bgain
3.v

(A) 1s false but (R) 1s true

(A) 808500, 50 (R) 0Dgain
4, #

Question Number : 40 Question Id : 1056152120 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct combination from the following:

& S0l PES D0 ELOWE (10 PAR (HGoiadw:

L -

Options:
Nostoc Autotrophic Fixes atmosphericN2
:U”El"ﬁ‘_ gj&(ﬁ&o Fado TGS A No @f}a‘tﬁ)@&o&
1.¢



Glomus Free living Increases plant growth

Fabw 3 BoBrP 2DNed 308, DAV 280
" ) E
VA
Azotobacter Symbiont Biofertilizer
ST o S ERAR)
3. ®

Facilitates ‘P°

Oscillatoria Symbiont absorption by plants
yfﬂwaa_‘ﬁ'a ¥yend ) w8y 28 ‘P’ FRsds
Qe $D ) Wol
4. %
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Number of Questions : 40
Number of Questions to be attempted : 40
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Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 10561545

Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 1056152121 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Rearing of honey bees is

Sl

S3EI0 Dowdo

Options :
Sericulture
F‘L:E:IEEE.JQS

’| "

Vermiculture

o £
wQég'UL:]U

2. #
Aquaculture
5735080

3, #
Apiculture
NS _;J@_

4,

Question Number : 42 Question Id : 1056152122 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Species 1s dynamic.

Reason (R) : Species are in a continuous process of adapting to the conditions of their
surrounding environments.

R3OS (A) 1 &S IR (1B Rlrio.
FOma0 (R) & dladen o 200005 8906 Abetilo Sabiromrud
FolEP solO.

The correct option among the following 1s

& 8ol ED».".JJS‘*O?.‘EG e OWNA

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 85050, (R) D955 S50 (A) & (R) 0O DSes
1.¢

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) D955, (R) 0930 @0 (A) § (R) DOGS D588
2. %

(A) 1s true but (R) 1s false

(AR5 50 R) s
3.



(A) 1s false but (R) 1s true

(A) 8550, O (R) D580
4. %

Question Number : 43 Question Id : 1056152123 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following :

List -1 List -II
A) Species diversity I)  Pollination
B) Genetic diversity II) Passenger pigeon
C) Broadly utilitarian [II) Amphibian diversity in western ghats
D) Narrowly utilitarian ~ IV) Medicinal plants
E) Over- exploitation V)  Advantage for survival
S0l aPER) 2ODODG :
8w -1 S8 -II
A) 2O I I) D03 Rowdy 0
B) &g dddge II) PO rado
C) WYd eaarne ®dd ) D360 Shahod Aai3ed &aiohudd Jddgo
D) d0d edalrie ead  IV) B0 o8y
E) Jddw 9 RaiFe V)  eaho haiics erairodo

The correct match 1s

mcgm P,

Options:

1. %



Vv III I IV II
A B £ D E
I1I Vv IV I II
2. #
A B (] D E
Vv III i I II
3. %
A B ¢ D E
111 Vv I IV II
4.

Question Number : 44 Question Id : 1056152124 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The symmetry of durelia is
e8dalre” Fydo
Options :
Spherical
4%

E
TSV

{



Radial

ﬁ"gi}“{;
Biradial
& 5&“5??
3. %
Bilateral
& 5?.1" 338
4. %

Question Number : 45 Question Id : 1056152125 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the incorrect statements.

I) The animals with radial symmetry are sessile, planktonic or sluggish.
I) Platyhelminths are acoelomates.

ITT) Persistent blastocoel becomes coelom in coelomates,

IV) Molluscs are enterocoelomates.

$00 @oTOD ©ANTe W PEFR TR (Mool

) PPl FRae dgfe WD BoMe)n PEeP Sy e JUK ©ulndd A,
PSTFOUT (PR TE TFeDOIP PR &olTow.

II) relirdyoben 400 Soird 8ird sdaen.

IIT) AP Dockog ez 0ird8 AT QS e 300 S0irSerP irdited.

IV) S0y Sw 8o@d00 S0ird dahen.

Options :



L. IIT only

a0

L, TIT 5o

(Cx

I1. IV only

I, IV S¢S

L II only

I, 11 &5mg5:s

3. %

II1. IV only

IIL IV &S

Question Number : 46 Question Id : 1056152126 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0



Match the following :

Leucocyte
A) Eosmophils
B) Monocytes
C) Basophils
D) Lymphocytes

S0l IR BLROWNG
SQUE Stdo

A) gy S
B) ardRd
C) SI¥peSw
D) Oordew

The correct match 1s

OO 2B

Options :

A B C

III I IV
1. %

A B €3

II v I1I
2. #

A B

IV I

Number
I) 5.3%
I1) 30%
I1I) 2.3%
IV) 62%
V) 0.4%
No&Dg
I) 5.3%
1) 30%
) 2.3%
IV) 62%
V) 0.4%
D
II
D
I
D
111



II1 I Vv I1
4.

Question Number : 47 Question Id : 1056152127 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following statements regarding nervous tissue. Identify the correct
statements:

) Oligodendrocytes form neurilemma around axons in central nervous system.
IT) Microghal cells are phagocytic cells.

IIT) Astrocytes bind neurons with muscles.

IV) Ependymal cells line the cavities of bram.

oG Saereo (0o S0l @oF U Bzeln JakoG,
I) R0l 5 5 Sofd TG S5es' 1) Sodmagre) o 00y o yEuTPow.
IT) 0§ oS Seren a5 Semen.

III) &r¥385y PG SO $olkTPueS” 2oRPau.

A,

IV) odaefein® e Sudea LirTrenh sed Golrou,

Choose the correct option from the following:

& §old DTV VOGRS T (WQotdol:

Options :
L. III only

I, III s5og9o



II. IIT only

IL, IIT &Soegsa

II1. IV only

I IV a&jt‘@&fu
3. %

II. IV only

IL IV &S
4.
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Read the following statements and find out incorrect ones.

I) Larvae of sponges morphologically different from adults.
IT) Comb plates help in locomotion and food collection.

IIT) Adamsia is sessile and cylindrical form.

IV) Hvdra exhibits polymorphism.

& 8ohd ﬁ“g%&.}gw&ﬁ} LR

)

2x
“
o
&
£
cy
=
LCP
@-\

D) R)oeese Goadseen 03dra 0ol 3P6 8Dt Soll B)d) of P GolImou,

s

II) So5°5°0 weseen (eoreds

Options :

1. %



L. IT only

I 1T &Somgsso

I1. IIT only

IL. III &S5

2
L. IIT only
L. IIT oSoegdeio
3. % =
IL. IV only
IL IV ae@ed
4. v
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Study the following statements and pick up the incorrect one.

3

SGQ WoFPLInd) BEIPadadl) W) O oY (WQodobs.

(4]

Options :

Primary function of flame cells of flat worms is osmoregulation

4,

208 Y LG ePger Sire PEE DO Gara)odes S



Amphids are the sense organs of round worms

A

oG (oGl pBILL FPT el PLD

2. %
Body cavity of hirudineans is filled with botryoidal tissue
OG0V QB Horde 25 ¢ronds Smaruedd” Job ool

3. %
In Pheretima blood glands are present in 6™, 7™ and 8™ segments
PO WNEp_ 65, 75, 8 WeG@LS EEfiodioen &obrow

4.
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The stomach of the animals of this class contains a crystalline style

& et el E‘Eg"%ﬁ’bufj %ﬁ&ﬁlﬁg Soléc &ollob.

Options :
Scaphopoda
WP aFrET
1. %
Pelecypoda
RONFET

2. &



Cephalopoda

QS VT
3. #

Gastropoda

TR
4. %
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Assertion (A) : In adult ascidians notochord 1s absent.
Reason (R) : Retrogressive metamorphosis.

DBYBBLW (A) : F& MOGOLIVES DY Sodo Sotsedd.
S0 (R)  : SEP Erdaios.

The correct option among the following is:

&2 5ol DQYTOS HOAWSH

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 855050, (R) D350 00K (A) § (R) 0O DSes
1.9



(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) De55a5m, (R) D505 @owd (A) & (R) DO DeSea T

(A) 1s true but (R) 1s false

(A) IBgw, 5°A (R) 90Sgedw

(3]

(A) 1s false but (R) 1s true
(A) 0dBgaw, = (R) g0
4. ®
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Study the following and pick up the correct combinations.

SNo Scientific name Common Character
Name
D) Hippocampus ~ Sea horse Female has a brood pouch
II) Trigon Sting ray Possesses poison sting
)  Torpedo Electricray ~ Ventral muscles modified
wto electric organs
IV)  Exocoetus Flying fish Contams air bladder

808 PR g5 BV, K0 Do ool

. o %“@j od Trado i]“o‘i)"’rﬁg TPaddo L&k
D el Ohd & 9 8370 S0y SO0 dotovod
1) n@l’?"nﬁ ?goﬁ 0 Dada)) §old 500 &bl
M  droye XigS 0 S50 &t St S0 B0d DiiogS
EIVOWIVEIV SINVEIO [T oW
IV) a)gf)rﬁd)é N0 I oSN §Ho Goluod
Options :
I.1I
1. %
II. IV
2. ¢
I ITI
3. %
IIL. IV
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Given below are the statements regarding frog. Choose the correct statements.

A) Frog 1s a carnivore. so the length of alimentary canal 1s short.

B) Frog never drinks water but absorbs through skin.

C) The ureters of frog also act as genital ducts.

D) Frog 1s uricotelic animal.

& $o g3 S50 Qoe@olN. NOTLN dPgargty SO B0YFR) (ool
A) §$Q 555”&3“6’.]‘5@, 508 9 relo E’P@W Golol.

B) £ 030 e )& &0, 9860 TRy (iaried,

C) E0)5'R alrg TPven, Boded TP PG DAIPO.

D) £y 008 08 3080,

Options:
A, B. C only

A, B. C &g

1. %

A. B only

A, B S5
2.

A.B.D only

A, B.D S
3, %

A.B.C.D
4. %
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Organism “A” lives as a parasite in the body of an organism “B”. “C” 1s another
organism lives as a parasite in the body of “A”. Then C 1s

A 9330 B o3 e TP

r\'i bt
o
(56000, sowd, C Q & d&o™ 287 obrd.

Options :

Ectoparasite

1. %
Digenetic parasite
Q3 USDHOW DT B8
2. %
Hyperparasite
BRIT°) 6
3.¢
Commensal
e 88
4, %

Question Number : 55 Question Id : 1056152135 Question Type : MCQ Option Shuffling : Yes
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Transformation of merozoites of Plasmodium into gametocytes takes place when the
erythrocytes are in

Options :
Liver

O0le

Kidney

oES Sloleo
N’

2. %
Bone marrow
oJosnd addas
3.¥
Lymph
T Q800
4. %
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Larvae of Ascaris undergo second moulting in
&%) 00 Iy, GiotSTPe Tolisd AT Pinio Dol &(le
Options :

Inside the egg

(hée S0
1.% 7
Alveoli of lungs of man
)R &IOSL ol STY
2. ¢
Intestine of man
SR DS
3 %
Inside the uterus of parent
NVLREIY ;‘ﬁﬁﬂg%mufff
4, ®
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Haemophilus influenzae causes this disease i human beings

SSRGS DPAPOOD FIePAWed S SO0 gd



Options :
Pneumonia

o

@y
D £ ad” 00T

o

Common cold

PO 226080

Ring worm

Tranl

Typhoid

ot
4. %
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Choose the incorrect statement with reference to the given chemical structure.

& $od GPODRS ATEPAQS otioBod DOTR P HBoSol.

Options :

Its acetylated form is called smack

&R DVOEE Srard) P8 @olrd

1. %
It 1s in white crystalline powder
50 B D F& ErHedS” LMl
2. %
Its receptors present in cardiovascular system
G [Parseen 8§ D008 S50 Gobrron
3.¢
It is a very effective sedative and pain killer
28 TP RaP0De000 € aetl SOOI TPE et G0Flde DA
4. %
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Oriented locomotor movements of an organism towards or away from the direction of
light 15 called

o oPgrAS ecdathtiorr O 9808 ¥ sladw QigTgPd) BLr Ll obrl.

Options :
Phototaxis
o289
1.9

Photo kinesis

SP0e3&9. 00 nde
2. %
Phototropism
L LTINS IR (o TN T
3 %
Photoperiodism
SPoe5PE IS
4. ®
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Correct Marks : 1 Wrong Marks : 0

If four individuals in a laboratory population of 40 fruit flies died during a specified
time mterval. say a week. the death rate i the population during that period
(individuals/per fruit fly /week)

a8 @Qﬁw"}a&@@"o"} 40 ol Salfe) BTEPESR 4 S o ardo PUES HoPOlDE ol

'

&
FOPRS Dot Satiu audErw Béw (ords, D& &iik)

Options :

0.4
1. %

0.1
2. v

10
3. %

2.5
4. %
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Assertion (A) : Larynx 1s a bony box which helps in sound production.
Reason (R} : It confains vocal cords.

DPBOw (A) 1 F30 &S B8 VFohk BVVEE V30 eds.

>desadn (R) F TP D38 Soen obrrow.

The correct option among the following 1s

& Sl QYTOT DOGLASG

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) DBgadw, (R) 0S50 0dakw (A) § (R) 0600 Deddes
1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Dgaw, (R) 0gain ©ond (A) § (R) DOGS Dd5des 560
2. %
(A) 1s true but (R) 1s false
(A) D955, 0 (R) @905
3. %
(A) 1s false but (R) 1s true
(A) ¥3Sgan, 3 (R) 0Sgadn
4.
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Study the following statements.

I) The role of oxygen in the regulation of respiratory rhythm is quite significant.

IT) Receptors associated with aortic arch can recognize changes in COy & H”
concentration,

IIT) Decrease in concentration of O2 cannot activate chemo sensitive area.

V) Chemo sensitive area is located near hypothalamus.

8ol BoPUD G300 Wolek.

I) #3000 A0feBns 8 Ed Pand Gol.

II) a50s3dSs80R TPo R (10 (Parse COp. H o0l rridde” 590 St yorh thdraw.
IIT) O P&S SOl SRS g oo S0lruetio @dil.

IV) oo g Poo arafderdan Nt Gotied.

Identify the correct statements from the above.

2 ©oPUS VOGN FER (oo,

Options:

L IT only

L II SSed
1. %

II. IIT only

IT, IIT Soe@ed>
2. ¥

II1. IV only

0L IV &g
3. %



L IV only

LIV &g

Question Number : 63 Question Id : 1056152143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The step-2 during blood clotting 1s:

Options:

Conversion of inactive prothrombin into active thrombin

&

Sosrsires

@ oo §C§J'°%’U TPolrd P S Olie

d o

.

1.4

Conversion of mactive thrombin to active prothrombin

Conversion of soluble fibrin into soluble fibrinogen

560 DS 60 PASRIP St



Conversion of soluble fibrinogen into soluble fibrin

$60 DSBS 00 PRSP S0

b
Lt
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Assertion (A) : The wall of left ventricle is thinner than that of right ventricle,
Reason (R) : Right ventricle pumps the blood to lungs.

DBYBS L (A) : sl s80¥ (den W06 2608 (' §T°) Dendre Godraw.
a0 (R) @ 906 2808 Gh0SEoN Sy wod Wbaol.

The correct option among the following is

&2 §old DRYFOS HOAASG
Options:

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 85505, (R) D505 00K (A) & (R) 0O D5es

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) Dgain, (R) dgen wowd@ (A) § (R) 2000 2886 56



(A) 1s true but (R) 1s false

(A) 95550, S (R) @855

(A) 1s false but (R) is true

(A) 38z, =9 (R) vgaw

(=]

4.+
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Inner wall of Bowman's capsule of nephron of human kidney is formed by

NI éﬁ“@&o&o@iﬂ ang

Q6088000

)52 Reioreso GRS, oo (098 50 éucfago & Smroed”

Options:
Cuboidal cells without brush boarders
Soow Woul OR awaersed Seew

1. %
Cuboidal cells with brush boarders

Soow Woul 50 awmorsed Stren

Podocytes

TR
3. ¢



Endothelial cells

oSG0 Stren
4, %
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Assertion (A) : Juxta glomerular cells release an enzyme called renin.
Reason (R) : Fall in glomerular blood pressure.

D3B30 (A) 1 838 yr FBrE STEen DR ©F Joaland YRFO.
#0acin (R) 1 58 0r98 Mo OF o &iieoe.

The correct option among the following 1s

& S0l DFOS DTSR
Options :

(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

(A) H5a, (R) 093450 0G0 (A) & (R) KOS D5e3
1.¢

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) D553, (R) D955 @and (A) & (R) HOTLS DS8e S
2. %



(A) 1s true but (R) 1s false

(A) 0550, T (R) @055

(A) 1s false but (R) 1s true

(A) B350, P (R) D85350
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Cori cycle occurs between

§°0 oSG0 DD oi0lg BBV

o
Options :
Liver and kidney

O0e — a‘iﬁ@ﬁ)oﬂio

1. %
Kidney and muscle
fﬂ“@oﬁjui& — Zolilo
2. %

Liver and muscle

o000 — Solelo
3. %



Muscle and pancreas

50&5{50 i ga&l&
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The major regions that make up brain stem include all the following. except

&5 00 e 2,8 & DI, MOOID WD JFLedd B ERPOW.

Options :
Pons
?53
1. %
Medulla
VSISV
2. % N
Midbrain
3. %

Cerebellum

E—*WQMQN{TQ
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Study the following statements and pick up the incorrect one:
S0l WeTLD BWEHZONTe IV VO W) (8ol

Options :

Typical value of resting membrane potential in — 70 mV in a neuron

oG EoreeS HTPD 3o DS Perdaerr — 70 mV &obuol

1. %
During resting phases. the activation gates of sodium channels are closed
DFeD HG Faoo TSy G0y 350D 0G0 S oo
2. %
If the voltage falls below the — 70 mV level of the resting state. it is called under
shoot
DFD &S FZa - T0 mV §or) S0S A @0 rdd wotrd
3. %

Speed of conduction of nerve impulse inversely proportional to the diameter of
the nerve fibre

oG ?QLS; ¢ed @3‘"5 o ool e RLE V)P ﬂ“gﬁ]"cﬁé DT STrehaPeSetS Eobod
4.
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Match the following:

List -1 List -II
A) Prolactin I) Levels of Ca™ in circulating fluids
B) Oxytocin II) Enlargement of mammary glands
C) Parathormone III) Stumulation of gluconeogenesis
D) Thymosin IV) Contraction of smooth muscles

V) Differentiation of lymphocytes

S0l eI BN

SOm -1 o3G0 -1I
A) FUoE ) 200 darg Ca™ pow
B) @3&d I 25 dothe B
C) Fomdyo ) $rs"acirads poe
D) 39 IV)  a0f%) $oiore) HoSe

V) ol DEISSo

The correct match 15

SsToRVINE: )

Options :
A B C D
Vv I IV IT
1. #
A B c D
IT IV I A"

2. ¢



A B € D
II IV I v
3. %
A B C D
111 I I V
4. %
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Cretinism is due to the improper functioning of

Options :

Parathyroid glands

£9a5800a5¢00 (Hoddoen
1. % i

Adrenal glands

QB8 (elown
2. %

Pituitary gland

010 Vb fjo':i“r



Thyroid gland

@3¢ (ol
4, -
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Assertion (A) : Adaptive immunity 1s more specific.

Reason (R) : It depends on prior nfection of the microorganism.
ABYBBaid (A) : @OS 1 AEGESD AQRTT Gobldeld.

g0 (R) : 90 B3B8 Yrdge s sadn Nofabts D BTPONG Gotlol).
The correct option among the following is

& Sod a}-&g?m_‘i‘ RO

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 855050, (R) D855 50050 (A) & (R) 0O DSe3
1.¢

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) DSgeim, (R) 0Sgain @ond (A) § (R) 00T D586 5760
2. #



(A) 1s true but (R) 1s false

(A) 0550, S (R) 5850

(A) 1s false but (R) is true

A) bi'ﬁ@gdfm 520 (R) xJéQm
y ) 3 :
K o

Question Number : 73 Question Id : 1056152153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Number of mterchain disulphide bonds between two heavy chains in the structure of an

antibody 15
BT AT G0t Dot &S (TLLVEN Sodds Gole GRT NG BolPL) olg

Options:
2

1.¢
4

2. ®
3

3. %
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Assertion (A) : Secondary spermatocytes are haploid.
Reason (R) : They are formed from primary spermatocytes after meiosis I.
ABYSSca0 (A) : HyBah D SrehySen 0§ RS dobrow.
w80 (R) P D Srehyen dided §ohidins dus Sy 90 DS ke,
The correct option among the following 15
& S0l 2YFOS HOTLIR
Options:
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 8505, (R) D580 6050 (A) § (R) 0OGRS DSe3

1.
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) dgaiw, (R) Dzt @owd (A) § (R) D000 Daddes e

2. #

(A) 1s true but (R) 1s false

(A) D9ga5m, TR (R) @0Sga50
3, %



(A) 1s false but (R) 1s true

(A) @050, R (R) g0
4. %
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Match the following:

List -I List -II
A) Multiload 375 I)  Oral contraceptive pill
B) Saheli II) Oestrogen
C) Vault III) Surgical method
D) Skin patches IV) Barrier

V) Intra Utermne device

gcufl‘- IR 22P0GSek

a0 -1 30w -11
A) HOSE 375 D X0 AEEE S &g
B) {ird II) SeP9ea
Q) e ) 399 D86 D5
D) 36y e IV) 860

V} ﬁ@a‘ﬁﬂfd‘o@iﬁ P&rdo
The correct match 1s
OGN 2D

Options :

1. %



Vv I IV II
A B C D
V I IV I1
2.9
A B B D
_ :H IV I Vv
3. %
A B 5 D
III Vv II IV
4. %
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If a child has blood group O. the genotypes of the parents

2§ 3%a)) OF 5o 0. @0wd SYeow ey Srared

Options :

I;‘-‘L IA._, ID ICI

AIB 19010
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Assertion (A) : Barr body is present in Tumer female.
Reason (R) : Karyotype of Turner’s syndrome is 45. X.
DBYBS 0 (A) : 0I5 {9 20 DFD) FON Gobiold.
weso (R) 1 038 6 Rogiad ATy, §arFane @ddf 45. X
The correct option among the following is

& 508 a&ﬂg?u*ﬁ“ Mlelonina)

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) H95a0, (R) 095850 sHOOK0 (A) & (R) OIS D53

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 095350, (R) 093850 0w (A) § (R) HOGLS SGEs



(A) 1s true but (R) is false

(A) 1s false but (R) 1s true

(A) @3Bgdw, 5 (R) Bgadw
4.
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Karyotype of a person affected from phenylketonuria (PKU) is

3.@95%35&"‘5@%‘“ g0 8O &) $Ig§ alwsy soar o (§ared e ?}g@)

Options :

44 + XO
1. #®

44 + XXX
2. %

44 + XXY
3. %

4. &
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Selective breeding of animals for a desired feature by mating them within a close
relation 1s

008 vkt 500 ) 47 Rotdollo (o 3edo aiddly 200 SOEY Deaddo

Options :

Out breeding

By WRInde
Close breeding
BB S PEe
2. %
Line breeding
0> Ledde
3.¢



Cross breeding
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Vaccines for diphtheria are
GHOAL S5 & G¥o
Options :
Attennated whole agent vaccines

g0 585 EeiodS VoarY AN 81D

Inactivated whole agent vaccines
83, 908" VoagPQ PR TSR
2. %
Toxoids
CrsyonEen
3.¥

Recombinant vector vaccines

)ede odiresl sl edseen
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Which of the following forces have the infinite range?

3

808 o) werel We® TR ¥ ahobron?
Options :
Gravitational Force. Nuclear Force and Electromagnetic Force

(R 3886 2000, SoQON 2000 OO DEIFEONT) 0D 2te



Gravitational Force and Nuclear Force only

(e 888 o O SoQol WL SIS

2. %
Nuclear Force and Electromagnetic Force only
E-oé{]ﬁ) 2000 snOO3W S'JCSJ,S C’]Dﬁﬁ"’a_offf o ﬁl’"@:ﬁ
3. %
Electromagnetic Force and Gravitational Force
DEEANTY 0O e sOOSN (e {858 2o SO
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The dimension of Planck’s constant is equivalent to the dimension of

m;ﬁ%% VOSSRV VIS VEATVRNV I VIRV

Options :
Coefficient of viscosity

) (S oeasdn



Internal energy

90e55eH ¥8

Allglllﬂl’ momnienium

S0 Egatism

3
Moment of force
200 g?i’usaﬁ:..f
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A particle moves in a straight line with uniform acceleration and with initial velocity of
2 my/s. Its average velocity after moving for 4 s is 6 mv/s. The acceleration of the particle
18

Qs eaasd SO0 a8 Seao VOV 0D ool 2 m/s &5 Otalned” Shendady b, & S

45 (fafdndo SP3S TP D% a0 6 mJs, @00 $to G0 & e

Options :
o |
3 m/s”
1. %
2 m/s

2. %
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4 m/s”

PR |
1 m/s-
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The relationship between the final velocity v and the distance x travelled by a bus

moving with uniform acceleration is v = /256~ 10x . The acceleration of the bus is
(All quantities are given in SI umits)

e Seios” Sthoendady a8 W) sy Sl aidn v ook drdan 1 o g

Dowoldo V' =4/256-10x . 2y S38ee (99 e SI dermwd a)

Options :

~ 5 m/s?
1. %

~ 10 m/s?
2. ®

~ 20 m/s>
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The velocity-time(v—t) relation of a particle moving in a plane is v=3t"m/s. Att=0;
displacement x = 8 m. The velocity of the particle at x =16 m s

%8 S0t Keotod) St G, ik — S dods dosdeddo (v=t), v=3t'm/s. t=0
565 Poadodo x = 8 m. ©00S x =16 m ¢ $ao a0
Options :
12 m/s
1.4
14 mv/s
2. %
18 mv's
3. %
10 m/s
4, %
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Identical guns fire identical bullets horizontally at the same speed from the same height
above level planes. one on the Earth and another one on the Moon. Which of the
following statements are “TRUE™?

I)  The horizontal distance travelled by the bullet is greater for the moon

II)  The flight time is less for the bullet on the Earth

)  The velocities of the bullets at impact are the same.

ARV VEVATWOOMVEY SRR T VVEVATY MR ETe W S VOV R e WM WD
a8 6eS” NP o &8 o) Ko FOVTE. Soi o) DadlSen “Rego” ?

D Srér poireded SRS Erday ol ¢ ¥y

) alrdy ddd O Srép Holreiod T 80y

)  eaardo &6 EFEr 3iabd NePadd

Options :
III only
ITT S>Sed
1. %
I and IIT only
I <5000 IIT SgBed
2. %
I and II only

I 0008w II SorSah
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An iron ball of 4 kg moving with a speed of 6 m/s makes head-on collision with another
won ball of 6 kg moving with the speed of 2 m/s along the same line. After collisions.
if both the balls move together with the same speed. the common speed of both balls 1
4 kg ahd) ¥ e wod 6 m/s e SLSr 6 kg ol 2 m/s SGeS” Soendd)
SDOAINE B Wotdes” 20PN RIS r':x}al wol). 8T BT Totiy sooten

£02) 2.5 036ed” Ehenthod] & sothie) éuﬂ)&ﬁ &
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3.6m's
1. %

2 m's

2. %

1.2 m/s
3.¢

3 ms
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When the brakes are applied to two cars moving with mitial velocities V and 2V and
the cars stop at distances dj and dp respectively. Assuming the work done on the cars 1s

' d1 .
the same. then the value of ratio —=1s
|

V 000k 2V &9 Jrrud” Shadod) Sed 850 d3¥o0n 3R o SGre di dakn d

rores” B, 52 06 W O Delrdo @n¥od, — A
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1
2
2. %
0.5
3. %
4
4. &
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An object of mass 7 kg imitially at rest explodes into two pieces A and B. The mass of
A 1s 3 kg. and the mass of B is 4 kg. After explosion. B moves with the velocity of

2 m/s. The ratio of kinetic energy of A to kinetic energy of B is

Options:
2
1. %
4
3
2. ¢
>
2
27
64
4. ®
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A circular sheet of radius 2m and moment of inertia 4 kg m” has initial angular speed
10 rad /s. A constant tangential force is applied and the sheet is stopped in 3 sec. The

magnitude of the force 1s

2 i , f
aPrdain 2m sHO0n skSarablo 4 kg m™ o) w8 Sy@wd nof §ah oG 10 rad /.

08 0303 02 JotG RAIFAoS &S 8o § sec 08 TR Giold. 2o C0E),. NOSPEID.
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4N
1.4

8N

16 N
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A body executes simple harmonic motion with a period of 0.2 s and amplitude 5.0 cm,
The displacement of the body from the mean position when 1t has the velocity of

047 m/s 1s

&35 0k 0.2 5 0000 FoSnOMS 5.0 em e &F ke AITTE ¥ JUTER)

Dotio0S) 8. 35500 04T 15 S 9050 HIED S o SK0eY PSgodo:

Options :

2 cm
1. %

3 cm
2.

25 cm
3. %

4 cm

4, %
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An object is launched from surface of earth with speed ,[4gR . . where Rg is radius of

earth and g is the acceleration due to gravity at earth’s surface. The speed of the object
at finity 1s

APAOB00 S0 48 S0P S |fAgR,, R ARargRU 50000 g 59 10,
&

B0 alrGR0Busd D8 PArAeTd. BceBe $6) sSiiad) TSy &

Options :
gR,
1. %
28R
2.
3gR;
3. %
gR;
2
4, %
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A steel wire of length 1.5 m can withstand a maximum 1500 N tension before it breaks.
The tensile strength of steel is 5x10° N/m’. If the same wire is stretched by 0.20 cm
in the elastic limit. the tension in the wire is (Young’s modulus of steel 2x10" N/m®)

1.5 1m &) &), 80y B B 2ot 11030rP 1500 N ScgtSedo SLStio, ey, Ty

o338 woo Sx10° N/m’. 03 Siied RS 8 006" 0.20 cm Pi1R), i gy, Big®

(&80, 0ofl theadadn 2x10" N/m?)

Options :

750N
1. %

800 N
2. ¢

225N
3. %

1250 N
4, ®
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Constder water flowing steadily in a pipe of varying cross sectional area and height as
shown in figure. The area of cross section at A & B are 20 cm? and 40 cm? respectively.
The velocity of water at pomt A 1s 2 m/s. The work done per unit volume as water
moves from A to B in J/m’ is

(Density of fluid = 10° kg/m’. g = 10 m/s?)

AP Srtheiied) wEs'® Frugy ool K& Dt UrHILL T S IE
DEFEro ) EnDSol. A 000K B © 69608’ Jaremsen S 20 em? hooky 40 em’.
A6 O 3ioln 2 m/s. A el A B K Shendod) i, 9ure sndddareo 2 T’
O, 3R D

(e3P PodB = 10° kg/m’, g = 10 n/s?)

Im

Options:

28500
1.¢

47000
2. %

56500
3. %

14000
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Water rises to a height H in a capillary tube of area of cross section A. To what height
will water rise in a capillary tube of area of cross section 4A

WSS Jrusny A i) SH0sS b H K 300, B@S'S Jrug 4A )
3OS A o) e Itehety?

Options
H
4
1. #
H
2
2.
2H
3. #®
4H
4, ®
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A black body 1s at 727 °C. It emits energy at a rate proportional to fourth power of an
absolute temperature (T). Which of the following is the value of T?

28 €% S0 727 °C & 00 &TP00 ¥ 560 D6 SIS (T) A, e’ Sreras
DT EPORPES odiodd. BB DD (IS (T) sy, Hes?

Options :
1454 K
1. %
72TK
2 %
1000 K
3.¢
100 K
4. %
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If the thermal energy of 2x10°J is used to boil the water of 0.5 kg at 0 °C. then the
specific heat capacity of water is nearly equal to

0.5 kg © 3830 0 °C &5 HBTS PGS &5 3 2x10°T, wond 58 JuFg



4 J/kg °C

’|_ e

40 J/kg °C
2. ®

4 kJ/kg °C
3.9

40 kJ/kg °C
4. %
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Match the columns for the first law of thermodynamics

AVWE & (12T VODATASE S0l FPLENLND BSVEWD

Column -1 Column —II
PO =1 POsw - 11
A) Adiabatic processes ) W=0, AE_ =0

2O RS wsc

B) Constant — volume processes I Q=W; AE. =0
ej{:_;_]d S OME OSON

C) Isothermal processes ) Q =0; AE_ =-W
4amg o8

D) Constant —pressure processes  IV) W=0; AE_ =Q

00 G WE0%
A

(W —work done. Q -heat absorbed. AE - change of infernal energy)
(W — 35 DR, Q —F'200S &0, AEint - @90S0S 55" o)

The correct match 1s

KOS %65

Options :
A B B D
I IT 1A I
1. %
A B B D
I1I IV II I
2.



A B C D
IV I II III

I ITT IV I1
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Choose the correct statement.
DOV DadGEBD ﬂaﬁagﬁ“ua :
Options :

The second law of thermodynamics disallows some processes consistent
with the first law of thermodynamics
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Spontaneous processes are reversible

59308 HECHED &y rghalh HEAhew



In 1sothermal quasi static processes. the heat cannot be absorbed or given
out by the system

Ll A6 Dars w§o‘5a@f.‘5“ N
%"ioﬁngejfiu

$50 &PD) FRoSH KO WAL

In quasi-static processes. the pressure and temperature of the
environment can differ from those of the system significantly

&8 A0 DE0DUE, HOVT L DG OO &IPS g TP Kokl rem

1
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At constant pressure. the temperature and volume of a gas are mcreased by 2 °C and
0.5% respectively. Find the mitial temperature,

w8 R0 RGdo 6, &8 POl &S HOOKY Budadureie ST 2 °C abdakn 0.5%
Dol 5O SHIBD §(T o6,
Options :

400 K
1.4

200 K

2. %



100 K

150K
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A wave travels from a denser medium fo rarer medium. then match the
following columns.

Column-I Column-II
A) Speed of wave I) will increase
B) Wavelength of wave II)  will decrease
C) Amplitude of wave III)  will remain unchanged
D) Frequency of wave IV)  may increase or decrease

w8 Bllo :JDDQ Qiraddo Dow AGY AIrIsR8 ?godmﬁ:@él@} 9ond §ob
LI INVIE S Hs RN

SONVES| e - 11
A) SGli 56 ) 2ol
B) &8oiSSutinfedn 1) Stbdied
C) 95l fobcso0d II) e
D) &GofiTFdaeaan IV) 28t Oue Sl

The correct match 1s

DOGH 269
Options :
A B C D
IT I I IT
1. %
A B C D
I II I II
2. %

3.¢¥
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A light ray refracts through a long glass like cylindrical rod at an angle of 60° to the
axis of rod and falls at a critical angle at the rod-air nterface. The refractive index of
rod i

a8 PEIY P WFaPed 86 50, S o8 60° SotS w8 o St sifaldde Wolold

Bfelovil) §@-W’@ 90653 $U§D én’.‘é K}of}é f:?&':iu DGod). §(.i§ &Sé 35:5(5 fhake

Options:

115
1. %

| 2 o]
2. %

1.75
3., %
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A parallel beam of light falls on a narrow slit of width 0.1 mm and the resulting
diffraction pattern is observed on a screen at a distance of 1.0 m. If the first minimum
1s observed at a distance of 4.0 mm from the centre of the screen. then the wavelength
of the light 1s

0.1 mm 360y ahd) D) D8 Wl & VelreBy Foaporiald DENG b VOB
D55 afFrgard) 1.0 m Erdo B8 i D08D0diniaa. F Sofe o 306 e

4 mm ¢ (DA, Fotd Sl BY

g

0
rtl

Options :

600 nn
1. %

500 nm
2 %

550 nm
3. %

400 nm

4.+
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Three charges 2Q. q and 4Q are placed on the x — axis at position 0. r and 2r
respectively. If the force on charge 2Q at x =0 1s zero. then the magnitude of q 1s

P GdT 2Q, ¢ 00 4Q Ul X — ©ige i WP 0, 1 a0 2r 0 O

Do, 2Q wadde A X =0 &¢ 2o W) BOWS, q WY D0TEo

Options :
1. %
—Q
2.
3, *®
<
2
4. #
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A capacitor of capacitance C 1s charged to a potential V and stores some energy E. A

second capacitor of capacitance 2C 1s to store energy 5 The second capacitor must be

charged to potential

£ C ) S0900 V #)o08" siSii0d S S E. 00008 2C $58 iy

E N——
. Dolead £a030R waid 00X I8y a

406 DS )

Options :

1, %
bk
3
2. %
N
J6
3. %
Vv
NE)
4. %
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Drift velocity of electrons is due to

cﬁugﬂﬁr‘c’uu emdes a3tiaid O oSees

Options :

Motion of conduction electron due to random collisions

-

QLN WIRPTU SO TiTE JUFIDL tieddo

1. %
Motion of conduction electron due to electric field
Qg ESo SO TEPE DUFIDL (isidade
2.
Repulsion to the conduction electron due to inner electrons of ions
0P oI UFFIL SO TP doFyy ¥
3. %
Collision of conduction electrons with one another
TE QJUTIDLN B TRES 2 direrey
4. %
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The resistance of a wire at 0 °C and 40 °C 15 4 © and 4.06 Q respectively. When the wire
is inserted 1 a hot bath. its resistance 1s 4.15 €. The temperature of the bath 1s

¥ &) AGdo 0 °C a0 40 °C &5 SP 4 Q by 4.06 Q. af J& T

oS A0S 4.15 Q. D8 gy, &I |

Options :

100 °C
1.+

120 °C
2. %

240 °C
3. %

200 °C
4, %
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An electron is moving with velocity 107 m/s near to a wire canrying current of 2.0 A. If
the electron 1s moving parallel to the wire from a distance apart 1 cm, the force on the

electron will be xx10"""N. The value of x will be
(o =41 x 107" SI unit; charge of electron =1.6 x 10" C)

2.0 A 3P5Fo ) i GG a8 dUTID 10" m/s afoes’ $enddy 8. dusd i
ReireBorr 1 cm drdod” Shoendodd) (i @Ug’jﬁ; i 2w xx107"N . 0900 x e

(o =41 X107 SI pSrEren, OIS &dde =1.6 X10™°C)

Options :

1.6
1. #

P
2. %

4.8
3. %

6.4
4.+
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Which of the following statements 1s correct about moving coil galvanometer (MCG)?
S 2oft PowS e s Smdel (MCG) (170 $08 o) DSt 90TRNE

Options :



In MCG. the coil rotates m a magnetic field when no current 1s passed through
the coil

MCG &0 58" HProdSiio @00y ot Z8o6' ot HOgIR00

1. %
The plane of the coil must be aligned in magnetic meridian
W) B oy o 0O&OLRES” DT wn§ &S oo
2. %
A MCG can be converted mto an ammeter by introducing a shunt resistance of
small value in parallel
S8y W Py ol cﬁﬁnﬁ"wl ReleB8erP oed MCG @ wdnybrr
v L4
INVEORTVIRY
- )
Galvanometer constant depends an earth’s magnetic field
PORT® siPOQ 0P80 GiFre@0wry o ESo i SLrGeIed
4. %
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A short bar magnet is placed with its axis at 30° with an external field 0.05 T. If the
. . 7 .

magnetic moment of the magnet 1s 0.8 Am", then the torque experienced by the magnet

1S

005T WEF’%Q igﬂﬁ'}é 30° @ﬁ%u ) AAVERS G @Gfd?&o@o ) IR APV AR @0‘.{&3”2’,0@0

I8, 0Py Pado 0.8 A w08, ©0kiryeSe ©badod &r6)

Options :

0.10 N.m

0.08 N.m
2. F

0.01 N.m
3. #

0.02 N.m
4. &
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A conducting circular loop 1s placed m a uniform magnetic field B = 0.025 T. with its
plane perpendicular to the field. The radius of the loop 1s made to shrink at a constant
rate of 1 mnys. The mduced emf. when the radius is 2 cm, would be

w8 SYTTE i e 508 woliryed e B =0.025 T & wd Swo EFS
UolelT a)okld) a)oudiGdl. &Y PgPde AU 060 1 mm/s i) L AENOWAPVA)

3P 2 cm sy i) VOG emf

Options :
g | .I
| E _!uV
1. %
() pv
2.«
(210) pV
3 %
(2.5m) pVv
4, ®
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An LCR series circuit with C =100 4F,L =970 mH and R =4Q1s connected to an
AC source of emf & = (100)sin(1007) volts. Find the peak current.

39 LCR SoahoS® C=100 F,L =970 mH 000 R=4Q & JTo 325% emf

£ = (100)sin(1001) §5* SnRmBS0. 306 Pird) KTSHG,

Options :

25 A
1. %

20 A
2.

15 A
3. %

30 A
4. ®
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Match the following

S0l eI BBDBII0

A)

B)

©)

D)

Type of EM wave

EM &80 &80

Microwave
2535

IR

lejle Nl

X-ray

X-30g0

Ultraviolet

Sees ares

Gamma rays

Paa™ SO

The correct match 1s

NOGLS 269

Options :
A
n.'-"
1. %
A
I
2. #

B L

I IT
B G
III II

‘\"T

Vv

Wavelength Range

SRy 758

D

IT)

IIT)

IV)

V)

1 mm to 700 nm

400 nm to 1nm

<102 nm

0.1 mto 1l mm

1 nmto 10~ nm

III

v



v III v 11 II

IV I v I1 111
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In a photoelectric emission experiment, the photocurrent 1s brought to zero by a
stopping potential of 0.50 eV. If the work function of the metal is 2.0 eV. then the

wavelength of the incident light is
(Take he=1240 eV.nm)

=0 3]

C

ad o Deth &IPS DAPHS, Tod YaPrA) TG0 0.50 eV ey S @b,
&

(he=1240 eV.nm P S:0876)

Options:

476 nm

486 nm

496 nm
3.¢¥



506 nmn
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Proton and alpha particle are released in same uniform electric field. Let / and /, are

the de-Broglie wavelength of the proton and the alpha particle. respectively, after they

/A
move the same distance in the field. The ratio s
/A

i

2GS a8 Fird oo af wury Sade Mo dakbegron. 4,
F
4

w00 4, &0 SRIT FErdd b0k wery S0 Gl BlaiRorsen, o EGed o8

_ S R
Bot 08P Tios St eashool, L AR

)

&

i

Options :
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An electron in a hydrogen atom makes a transition fromn=nj ton=n2 (wherenis a

principal quantum number of a state). The time period of electron 1n the nitial state 1s
eight times than that of the final state, then which of the following statements 1s TRUE?

Options :

1n1 = 3n»
1. %

n; = 4n»
2. %

n; = 2n»
3. v

1n1 = 5nz
4, %
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i = e ; 27 125 .
The ratio of the radii of the nuclei ;Al”" and _,Te ™ is

27, 2 125 =
AT S00akn ;,Te™ 3ol argrg

Options :

355
1.¢

2T A
2. #®

|
3. %

14:73
4, %

: None Response Time
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In a p-n junction. potential barrier of 200 meV exists across the junction. A hole with
a kinetic energy of 300 meV approaches the junction. Let E; and E be kinetic energies
of the hole when it crosses the junction. while it approaches the junction from the

. . . Ej .
p-side and n- side respectively: The value of — is
4

a8 pn 0B 200 meV © K uddido Db WoBtrahd)d. (B4 300 meV o) ol
Bo@add 0ol o) &. E1bOoinE2 i Sodald alugy (fedes $oe. Sodadr Dodd

¥l W = VoW o o ]-:"Tl
Bl i SR p-ga)) ol 1i- J59) VB TPEISE, (1345 wowd L_ DN
‘)

Options :
0.2
1. %
5.0
2. ¢
1
3. %
1.5
4, ®
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Identify the correct option. if A and B are inputs and C is the output i the following
logic circuit.

§ola 80y, Suahed A shOak B 2 )& b0l € e owd OGN 2P

M B =%
1’1.490-\:30%

il

Options :

A=0B=0€C=1

1.%

A= B=1C=0
2. %

A=), =] 1= 1
3. v

A=1B=0€=1]
4. %
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Which of the following band of frequency 1s used in satellite communication?

Options :
3T GHz
1.4
3 -7 MHz
2. %
3-7KHz
3. %
3.—FTH¥
4, %
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qnd

The ratio of the radii of the 2* orbits of hydrogen atom and the 3® orbit of Li** ion is

E..E v

TERD DOSTY) Dotiss $K3 00K Li** eolied abirdéad s oYy, rgirgre S

Options :

3:4
1. %

4:3
2.

41
3. %

2 il |
4. ®
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Correct Marks : 1 Wrong Marks : 0

The valance shell electronic configuration of Nb and Mo atoms are, respectively

W, W

Nb 00000 Mo D0:SPeane)ues’ ey weseym dTPgesn SERr

Options:
4d°5s° and 4d*5s’

4d°5s" s50basn 4d*ss?

1. %
4d*5s' and 4d*ss’
4d*5s' so6asn 4d*5s?
2. ®
4d°5s% and 4d°5s!
4d°5s" 6k 4d°Ss'
3. %
4d*ss! and 4d’5s!
4d*5s' o6 4d’°Ss'
4. v
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The successive IP values of Mg are 750 and 1500 kJ mol™ respectively. Identify the
percentage of Mg™ and Mg, respectively, when 1 g of Mg absorbs 50 kJ of energy.

Mg DOarme) ) wohdin FEILE devden WP 750 bk

1500 8. 765, Ir6 L 1 paioo Mg 50 865 050 3 (Rrodiid o)) Mg ooy Mg

[ o

P OIT

Options :

50. 50
1. %

100. O
2. %

30,70
3., %

70, 30
4. &
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Match the following

S0l eIV BOLGUG
Atomic number IUPAC Symbol
GadTPED oddg IUPAC &
A) 103 I) Mt
B) 107 II) Bh
) 109 I Er
D) 111 IV) Ds
V) Rg
The correct match 1s
SleToRVINE- o
Options:
A B C D
1] I1I Vv 1A%
1. %
A B i D
III I IT IV
2. ®
A B € D
I Vv IV I
3. %

4.v



A B 2 D
III II I V
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The shape. numbers of bond pairs and lone pairs of electrons in XeF4, respectively. are

XeF4 eaa)) Gy, &), 2ol oJUWjée.J %% SOOI awot)d U 9L RO T

Options :
Octahedral. 1 and 2

Eic QLE'E 1 Sdasw 2

Square planar. 2 and 4
SEOOR DebBw. 2 abbaiv 4
2. %
Tetrahedral. 2 and 4
E3¢rareed, 2 anbain 4
L L
3. %



Square planar. 4 and 2

WO eSO, 4 200aln 2
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According to Fajan’s rule. covalent bond is favoured by

T2 Q0N RFPEan DCIrad0l setiein G N\G BEAUININY

=
Options :

large cation and small anion

=
o

ofx

FEOIPS SO0 ) BSOS

large cation and large anion

FIARL VOV ENVIS IOV IVEVIA RS IN oV

small cation and large anion

Ddy PO O DG BICITED



small cation and small anion

ﬂr::r;,d 0P DO ﬂré;d IOV
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The van der Waal’s equation for 0.5 mole of a gas is

0.5 Srede TrOLedd0 aTPekd TS e Gl
Options :

(V-b)

(N dJ RT
4Vv*

(P+ aJ(ZV—‘o]:RT
4v?
2.v
| a
(P+ 1}(2V—41})=RT
ne
3. ®

PV =nRT
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Among the gases N,,CH,Cl,, Cl, and CCl, the smallest ‘a’ and the largest ‘b’
respectively will be shown by gases [a and b are van der Waal's constants]

S b

42

Ge

N,,CH,Cl,, Cl, &6aty CCl, arauors o8 &% @’ Hickn @

DS 450300 TPAVaPE ST (2 00K b Pl TS TPeTL)

]

Options :
N,, Cl,
1. #
Cl,,CH,Cl,
2. %
N, .. CCl,
3. ¢

CH,Cl,, CCl,
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100 ml of PH3 on decomposition produces P(s) and Ha(g) under isobaric condition. The
final volume of the container is

b Dol DORSE” 100 Q. &, DS AL Jobd P(Eud) shoay Hy@) od

00309000, S 0y, 6 I0SPERY

Options:

50 ml

100 ml
2. %

150 ml
3.+

250 ml
4. ®

Question Number : 130 Question Id : 1056152210 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is /are disproportionation reactions?

8ol a3 0B/ o) IS Sz ?

a) NH,NO, _Hy N,0+2H,0

b) 4H,PO, —> PH,+3H,PO,

¢) 2KMnO, ——K,MnO,+ MnO, +0,
d) PCl; — PCL;+Cl,

Options :

a.b.c.d
2. %

b only

b S
3.¢

a. d only

a, d S
4, %
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Out of the given options below. which one 1s an intensive property?

800 RS TS 5aTeS &S0 2B ?

Options :
T
1. #
U+ PV
2. %
AH
AT
3. %
RT
P
4.

Question Number : 132 Question Id : 1056152212 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A vessel at 1050 K contains carbon dioxide with a pressure of 0.6 atm. Some of the
carbon dioxide 1s converted to carbon monoxide on addition of graphite. What will be
the value of K, 1f total pressure at equilibrium 1s 1 atm.

1050 K &6 r@'a G0 Gers)& 0.6 oéryuycho Hiaed) 500 &) . &
FER ZYTYEN P SRS §o TN TFTFEP air0ol. NeERS G S0Gan

DGk 1 e9ém) 3000 HOWS Kp Deds
Options :

1.6 atm

1.6 @dﬁéﬁ;ﬁcﬁcﬁ

1. %

3.2 atm

3.2 @&T&&JQ&J@
2.

0.6 atm

0.6 @f.ﬁ“éﬁ;ﬁgcﬁ;@
3. %

1.0 atm

1.0 @*&Pé#&gﬁ@
4, %
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If [ngﬁ}: 7.5%x10°M .the[OH_} is

[H30+J: 7.5%107° M es0005ns [OH_] HLS

Options :

1107 M
1. %

1.3x107 M
2. %

2x107M M
3_ W

6.5%x10° M
4, %
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The correct statement among the following is

806 TPEIS" DO PBFES

Options:

1. %



Relative abundance of deuterium 1s more than protium

5256300500 DY a5 FeSoho Kol3 D8y

Relative atomic mass of deuterium is greater than protium

2530050 FDE DESeaY SS50°8 Feato Eold IS S

2. ®

Deuterium has more neutrons than protium

g@fldi}o 503 fﬂgﬂ@CﬁJu &}Ei"ﬂarcﬁ nﬁ?g@5f_}r\$} 50D cobiodd
3. ¢

Deuterium is radioactive

og¢300%e BGRAIrTrOyE D gain
4. %
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At room temperature. which of the following compounds has a chloro bridged
structure?

(10 SIS 55 800 o Nayefesos §16' D 20058 AT 0N ool ?

Options :



BeCl>

1.4

MgCls
2. ®

PbCly
3_ W

ZnClz
4, %
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Assertion (A) : The trivalent molecules of boron trihalides behaves as Lewis acid.
Reason (R) : Boron trihalides cannot accept a pair of electrons.
28BS0 (A) : Eo0ires vmeduiio BP0 GRFOEL Loy Sugru.
ek (R) : O GRPOG WOFIR 58D D800
The correct option among the following 1s
& Sold DYPUS LOGLIA

Options :



(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) g5, (R) D955 s500a%0 (A) § (R) OGS D38e

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 05550, (R) 055050 @900 (A) § (R) DO D5es T

2 %

(A) 1s true but (R) 1s false

(A) 0Bz, 3 (R) ©90Sglw
3.¢

(A) 1s false but (R) 1s true

(A) 0Sgaw, 9 (R) ndgen
4. %
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Which of the following statement 1s/ are true?

A)  Diamond is the thermodynamically stable allotrope of carbon

B)  Diamond has 2D-network & Graphite has 3D-network

C)  C—C bond length within a layer of Graphite 1s 141.5 pm

D)  Cgocontains 12 five — member rings and 20 six member 1ings

800 P’ OGRS HAFEIe0 2D ?

A) 500 SrareSTrul Gudob G 9 I5 el A0S0

B)  Gao& 2D-network 07y sh0akn PR 3D-network o7y $90
&olrow

C) P& IS C - C wotddge 141.5 pm

D) Co & i Uy &) duoiren DJ) ol 0ok el RO &)

NSTOWESY ac‘@ EINALOW

Options :

Aand B

A Sdcin B

AandC

A dain C

Cand D

C sdasw D

3.¢

4. %

Band D

B o28ain D
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The displacement of shared pair of 77- electrons in a multiple bond in the presence of
an attacking reagent is called

850 Dot Wil WU T-WUPINL XS P Hodeld Jodiard)) Wekdobry?
Options :

Inductive effect

2008 WETPdedn
o

Electromeric effect
0Je§79a008 Daedein
2. o
Eesonance
oes @5:}
3_ W
Hyperconjugation
9D 0a0O5W “ﬁéo
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Assertion (A) : n-Alkanes on heating in the presence of anhyd. AICI,/HCl gas

undergo 1somerization.

Reason (R) : Branched 1somers are formed as minor isomers.

3 B (A) : wrdy AlCL HC () 0dEot 900 S6dki Nyt
BAYWE

PO (R)  + B S8y Pgr D8 yisa0en a0,

The correct option among the following is

& §o 0 FUE NOEHIO

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D955, (R) Oe9gas 080 (A) § (R) DO DasSes

1. %
(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)
(A) dBgain, (R) Dehgain @ow (A) § (R) 000 DG 2
2, ®
(A) 1s true but (R) 1s false
(A) D8galw, A (R) 90Sgew
3.v



(A) 1s false but (R) is true

(A) @085, 0 (R) 09380
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Assertion (A) : In the mechamsm of aromatic electrophilic substitution reaction, attack
of electrophile gives a ¢ — complex.

Reason (R) : The sigma complex loses proton to generate non-aromatic compound.

ABYBS 1 (A) : TIPS WOFIROE HBENE o7 Aol WSRO TG S0

0~ R0 )8 08000,
P (R) - e§e FEPSH S yow GRS 33 1oy ) Sy S0RRet.

The correct option among the following is
&8 §old DO KOWID
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D5, (R) 09550 $00050 (A) § (R) OGRS De5es

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 085050, (R) 085050 0w (A) & (R) 0O D86 T



(A) 1s true but (R) 1s false

(A) D550, R (R) @9e55e50

(A) 1s false but (R) 1s true

(A) 9350, PO (R) Dedgain
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When KCl 1s heated in the presence of potassium vapors, the violet colour of KCI is
due to

P05 &) eENS KC1 & Jadokre éiae doth KCl ka8 st

Options :

Schottky defects

PE3y, &5 are)

1. %
Frenkel defects
ﬁgoﬁfﬁ eSaPEL

2. %



F-Centers

Metal deficiency defects

5o 5369 e Pe
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Calculate the mass percentage of 25 g of NaCl dissolved in 225 ml of H;0.

25 tP. . NaCl & 225 Q0.6 $¢3eS" $0Nedoapiy &){‘.’Jgd Bd50%8 TR O oo,

o ]

Options :

10 %
1.4

9 %
2. %

5 %
3. %

25 %
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The solubility of a gas in liquid increases with

PSS K00 TOKved) TPSHEADE BSOS DENLBE?

Options :
Increasing temperature and decreasing pressure

&I Do, DET°DY BAOESD SO

1. %
Decreasing pressure
VG, oDyt
2 %
Increasing pressure and decreasing temperature
VG oW, GO BNowdteld S
3.v

By stirring

aPrP EO0EIEE0 oSS
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Match the following.

%o@- SRR 238900506

Metal Specific conductance

igo
e 55 (x10°S/m)

DY TTES
(x10° DR /o)

A) Cu I) 1.0
B) Ag I) 45
C) Au Iy 6.2
D) Fe IV) 59

The correct match is

OGS 23¢9

Options:
A B C D
I11 IV I II
1. %
A B C D

II III v I



A B e D

I II I1I IV
3. %
A B C D
IV III II I
4.
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The rate constant for a reaction increases by 2 times on increasing the temperature from
27 °C to 47 °C. The activation energy of the reaction in (kJ/mol) 1s

8 S0 Yy cﬁgﬂmm C ot 47 °C § Do S & S5 A 3w HPeted
Do 04 DORKS 05 cl, 6w 1 (36 e/ Frdost

Options:

35

(]
_-J
[

110



250
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Match the following.

§o@ TEIR B350l
Reaction Chemical process
w0 Gralnd P8k

A)  As0,+ HS—AsS,+3H,0 I) Reduction
20558e30

B)  FeCl,+ 3H,0 — Fe(OH), +3HCI 1) Double decomposition
(500 DAIF{1aiod

C)  2HNO,+H,S-> S(colloidal)+2H,0+2N0, II) Hydrolysis
BOFaER

D)  2AuCl;+3SnCl, —SnCl, + 2Au(colloid) IV) Oxidation
esdyS0to

The correct match 1s

VOOWINE-+3)
Options :
A B B D
I I1I 1AY II



II I IV I
2. ¥

A B C D

IT IV I I
3. %

A B C D

II I1 I IV
4. %
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Assertion (A) : The single N-N bond is stronger than the single P-P bond.

Reason (R) : Interelectronic repulsion between non-bonding electrons of N-N single
bonded molecules 1s possible.

YB3 (A) : N-N oJ¥a0tSustd P-P éaoiudy $o3 S )i,

P80 (R) 1 N-N 0olSsnt 0 @0 weao sy 2866 Sos.

The correct option among the following 1s

& §ob D)FUS AOTNR

Options :

1. %



(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) $9560, (R) 95850 500050 (A) & (R) OGS D5t

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 393350, (R) 0885050 @000 (A) & (R) DO D568 S0

2. %

(A) 1s true but (R) 1s false

(A) D555, 2 (R) @053
3. %

(A) 1s false but (R) is true

(A) ©3Sgaw, 2 (R) 0Sgeiw
4.
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The order of bond angle (H—E—H) for H20. H2S. HaSe. and HaTe is
H20, H2S, HaSe o005 HoTe 0¢85 (H—E—H) 2008 §30 Sadoadnd

Options :

H->O = H»>Se = H>Te = H»S



H20 = H»S = H2Se = HoTe

2.

H>Te = H2Se = H»2S = H20O
3 %

H>O = HTe = HaS = HaSe
4, %
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What 1s the structure and colour of C1Fs molecule?

CIF5 e9ted) Gl0Ep, Q0PyEaas0 <O Goth 0J?

Options :
Pentagonal bipyramidal and colourless

Dol c5ed Q&éﬂjﬂf aDO3W SolNOE

Pentagonal bipyramidal and orange
RelT(T IS ZIDENES OO 0083
2. %



Square pyramidal and yellow

Square pyranudal and colourless

SEEN HODES DOAW SothSd

Question Number : 150 Question Id : 1056152230 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Hydrolysis of XeF, gives. one of the following molecules as a product.

W,

XeF, 2030e50 Bl §obd G8)T°) ) wXSEReb.

Options :

XeO,
1.¢

XeOF,
2. %

XeO,
3. %



XeOF,
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Copper (I) compounds in aqueous solution are not stable. they undergo
BUTSES" NG (I) Dy FTrwn @80 ot¥SP
Options:
oxidation to give Cu™

@8 8860 Dod Cu'? o 28 S0rPow

1. %
reduction to give Cu
0588830 Dod Cu 5 )8 E0Pow
2 %
substitution to give Cu™ complex
HAEDEI Dod Cu*? Dofardy 8 ySoron
3 %

disproportionation to give Cu'" and Cu

BSDF SGgTod Cu'? SOk Cu O w8 yE0Faw
4.9
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The outer sphere complex in the following 1s

o) aredeS’ erary (T95°8 Dofaein

C

Options:

3

| Fe(CN), |

1. #

[FeE,]™
2. %

LC{)(NHR)J'
3. %

[co(c,0,),]
4. %
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Correct Marks : 1 Wrong Marks : 0

Which among the following amino acids contain heterocyclic ring in them are?

Phenylalanine Tryptophan Asparagine
I I 1

Histidine Proline Glutamic acid
IV \Y VI

808 A0S’ s’ Derdoh WEHH SLohuw S wD?

LIOVUIR QFFe P00
I II i
QG FOQ (h€aa0§ o
IV V VI
Options :

1. IT and IIT

L. 1T oodcsw 11T

1. ®

I1. ITT and IV

IT, I1I cobosw IV
2. %

IV. Vand VI

IV, V 00030 VI
3. %

IIL.IVand V

II IV a6050 V
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The metallic fluoride that can be used for the preparation of alkyl fluorides from alkyl
chlorides 1s

Options:

NaF
1. #

LiF
2. #®

BE3
3. %

HgoF2
4.+
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The suitable reagents A. B and C 1in the following conversions are

308 DOSGTrOT G FEen A, B 0ok Cun 8P

NH, NH,
A B C
—— P > Q >
Br
Options:
A B C
(CH,C0),0/Pyridine Br,/CH,CO,H H,0"
006G
1.
A B C
Br, /CH,CO,H (CH;CO),0/Pyridine  H,0*
H0G®
2. %
A B C
(CH,C0),0 Eyxidine HBr/CH,CO,H OH
5065
3. %



A B C
(CH,CO),0/Pyridine H,0*

3. o B S
Sl g

III.'_
B,/ OH
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The major product formed in the following reactions is

8obd WS85E" BT DTS G935y oS0

OH
i) NaOH, C H_I
ii) CH,COCI, anhyd. AICI,
. = :
iii) Zn-Hg, conc. HCI
s
Options:
OC,H,
C.H.
1. %



OC,H

H:?Cl
OH
C.H,
CH,
3. %
OC_H.
CH,
4,
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The major product in the following reactions 1s

800 SBgE" oIS )% DTS 505 oS0
i) DIBAL-H

b i 4 :.\ ,
CH,CH,CH,CH,co0C,H, — ) ¢H:CH,CH,CH MeBr

iii) PCC

Options:

Nonan—5—one

1. ¢

Nonan—5—ol
2_ W

4—Nonene
3. %

Nonan—4—one
4, %
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The correct order of reactivity towards nucleophilic addition reactions of the following
compounds s

S0l N Y Argdairadl Nofud wWdgen 2207 Somgdud S

CHO CHO CHO

CH,CHO Jj:::]f fl:::rx [::J/

CHO HC
1 I I IV

Options:

=1V >

1. ®
I=IV=II=>=1I
2. ¥
N=MI=1IV=1
3. %
IV 1> 1
4. %
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Aliphatic carboxylic acids on heating with sodalime produces

QOFEE E3TE BPOD FEOI0S 36 IS 8 S

Options :

1.¢

alkane with same number of carbon atoms present in the alkyl group of the acid

e D ¥0y S VaaTEnG D PER DSrmdUR VS e (o 8Ty Hew

alkane with twice the number of carbon atoms present m the alkyl group of the
acid

("nu

SNVNWSIVESS EORVNWIN G bw R0TEN)E) 0&loa)) Neddg (1 @T) e

alcohol with the same number of carbon atoms present in the alkyl group of the
acid

LadeNG R BTy O NENT NG W PP D) RS Doy (1L G TS

acid

W,

86000 R 9T 6 VebDaTaNE D U D)) DN Do (U 90y
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The appropriate conditions for the ammonolysis of alkyl halides are

w0, S FO&u @méaﬂ@ﬁﬁ.} 230050 LS Db

A ;

T

Options :
Et»O. 100 °C. sealed tube

Et20. 100 °C, a3 (T¢e50

1. ®
CgHs. 80 °C. sealed tube
CesHs. 80 °C. ouFaied r'i'%‘auﬁlj
2. %
EtOH. 100 °C. sealed tube
EtOH. 100 °C. i fi‘d}&i}.:
3.v

CHto0H:. 0°C



